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Q1 Q2 Q3 Q4 Q5 

3 1 2 4 3 

Q6 Q7 Q8 Q9 Q10 

4 3 2 1 1 

Q11 Q12 Q13 Q14 Q15 

1 3 3 2 1 

 
Q16) Eight 
million, twelve 
thousand and 
forty 

Q17) 8600 Q18)   
4 : 7 : 3 

Q19)  

 

Q20)  120 

Q21) 
1
8
  

Q22)  17 Q23) 160g 
Q24)  1

1
5
 m2 

Q25) 407895 

Q26) 11 Q27)  
112 cm2 

Q28) 600 Q29) $3.00 Q30) 12 cm 

 
Paper 2 
Q1) $30 x 2 = $60 
 $20 + $40 = $60 
 Ans: A and E 
Q2) 1000 ÷ 48 = 20.83 
 20.83 ÷ 12 ≈ 1.7361 
 1.7361 ≈ 1.74 kg 
Q3) T : P 
 1 : 20 
 351 ÷ 20 = 17.55 
 17.55 ≈ 18 
Q4)  

 



Q5) 2,  6,  24,  __,  720,  5040,  40 320 
 x3 x4 x5 x6 x7 x8 
  
 Ans: 120 
Q6)  

MO      

     
 

G  

 
  
 5 + 5 = 10 
 86 + 10 = 96 
 96 ÷ 6 = 16 
 16 x 5 = 80 years old 
Q7)  

R 70 10 

  
 

T 70 10 200 

   
 
 10 + 200 = 210 
 210 ÷ 3 = 70 
 70 + 10 = 80 stickers 
Q8)  

      

      
Teachers Boys Girls 

 
 65 x 5 = 325 
 325 – 65 = 260 
  
Q9) 386 100 + 463300 + 336600 + 470000 = 1656000 
 1850000 – 1656000 = 1940000 
 1940000 ÷ 2 = 97000 steps 
Q10)  Rebound height on second 
 Bounce = 2.5 cm x 4 = 10cm 
 Rebound height on first  = 40 cm 
 Height ball was dropped from = 40cm x 4 = 160cm 
Q11) 5 x $0.20 = 2 x $0.50 
 Number of coins in 1 set = 5 + 2 = 7 
 Number of sets = 28 ÷ 7 = 4 
 Amount of money = (4 x 5 x $0.20) + (4 x 2 x $0.50) = $8 
 
 



Q12) a) L : H 
  21 : 7 
  3 : 1 
 b) Layers of bricks needed  
  = 140 cm ÷ 7 cm = 20 
  Number of bricks need 
  = 20 x 5 = 100 
  Number of bricks to complete wall 
  = 100 – 4 x 5 – 2 = 78 
 
Q13) 2 units of rose petals = 910 – 110 = 800 
 No of roses = 800 ÷ 2 ÷ 20 = 20 
 
 No. of sunflowers = (910 – 20 x 20) ÷ 34 = 15 
 Total no. of flowers = 20 + 15 = 35 
Q14) √ 64 = 8 

 8 + 
4
5
  = 8

4
5
  

 8
4
5
  x 2= 17

3
5
  

 
4
5
  x 2 = 1

3
5
  

 1
3
5
  + 17 

3
5
  = 19 

1
5
  

 8 x 2 = 16 

 19 
1
5
  + 16 = 35

1
5
 m 

Q15) a) $11 x 2 = $22 
  Cost of 6 cupcakes = $22 - $17 = $5 
  Cost of 1 cupcake = $5 - $3 = $2 
  6 + 1 = 7 cupcakes 
 b) least cost of 15 cupcakes 
  = $33 + $3 x 3 = $42 
  Amount of money to be asked for 
  = $42 - $22 = $20 
Q16) 60 – 35 = 25 

 25 ÷ 2 = 12 
1
2
  

 12 
1
2
  x 12 

1
2
  x  

1
2
  = 78 

1
8
  

78 
1
8
 x 4 = 312 

1
2
  

 60 x 60 = 3600 

 3600 – 312 
1
2
  = 3287 

1
2
  m2 

 




